Ry LIS ZE ST 3 1

wHP P # ¥ 2
WaF B R(F) D (%) #H(2) B.(%) 23 3 7
- BEmL AN AR RRALT G TGS
1-4@‘3% F L |&l] 2] B[]
2.0 % - ki 10 |80 20 (30
34 @ T PO w0 L3 = o (520 (&
436 % PO (RO A4 ars 2 04 [0 2
sp Rt AR g He ARk [0 0% [E0 [0
6.1 F(AH ~HH X E) yANNESE 2] |20
- 4
;f%—r% —)ﬁD #Dj‘f'l{/\‘\‘ TE {D ?’D
JERR S S B E > th % RN R S EY
il e B S el i
QEK S B AH it LA 10 RO L i REE R Ne g i
- ' F 3ot e
12?#/:13?3%& B i K E 4 7 [ %@-D{fw’ﬁﬁ’?‘??l“%‘“{{[l [
: 1%3+ : %;gml\% (&Hk#E) F 0 (a2 3 A K2 X368 E] |3
12.% b g S A gk A5 3] (m]ERHFEFCER? [E[] (3
) 7 2 A= A ngélij(?qa%j_?ﬂ ,TE;,%‘Z*{
1344kt R* TR Tmy s 10 ﬂDéq;%wpili 3w |20 |70
-
TR I AN AN W SN Li-@Ek- % E
9 TE 5 o &?"ﬂfﬁ" - A

R GRH 6Hk PTPHO #0020
lsﬁ%,J\E—ri 2 & = g,i/\‘) Bl
164 = % p af K2 ;% E%ﬁé?ﬁs%?é QE g%
17.0 %k % & 3 7 4 0 &[] —

o F :, A jg{ N2 (VI = 4 {D ?’D
18.F ¢k 5 43 3 [ J@‘DFF FE I S IR
19.4% & 1 nfi = IREE TN S A In AN
20.% 55 ~ & % OOt 0 %D
2 AA KGR (FBE A E AR A, | LR BRI

O HFTR L PR S M) PO AU sk o W F0
KAl S T L 10 (&0 pan st ¥ flao =0
BELBA KA (W TS -

» ) ~FFERF O eOjessas 222 |20 20

24&&{@% ?3§%i 10 #OFRSEREL (Flap 50
T

BN ETEYS SYRSTE T

26.7v % ~ CHEL Bk A FE (400 |, - AE - FHk- &

Fed fa5%) POED | pygre 9 Rl

e P N .~ 8% ekl gg & ?

R SR F ST F0RD [gEa a5 7 a0 = o
2807k F F(kda o~ okiE kS , CEcke A B
LA gt Yoo s omrggalan 20
TP A E R
0.7k ARE BB ARE B AP AL . F - k- X

eFET kR PL# ;:;i;t/ﬁw'ﬁ%?‘}i‘; CRO RO

30.H s _ + Ol&d]
2 3t
?,;‘11: T T L L T E LT =

R

. ’%IFL’K’“ ’}ﬁ?’»%&./ﬁj_})ﬁl

TERBEFR/FL A




